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Directions (1-5): In these questions, relationships between different elements is shown in the 

statements. These statements are followed by two conclusions. 

Give answer 

  

Q1.  

 
(a) If only conclusion I is true 

(b) If only Conclusion II is true 

(c) If either conclusion I or II is true 

(d) If neither Conclusion I nor II is true 

(e) If both Conclusions I and II are true 

 

Q2.  

 
(a) If only conclusion I is true 

(b) If only Conclusion II is true 

(c) If either conclusion I or II is true 

(d) If neither Conclusion I nor II is true 

(e) If both Conclusions I and II are true 

 

Q3.  

 
(a) If only conclusion I is true 

(b) If only Conclusion II is true 

(c) If either conclusion I or II is true 

(d) If neither Conclusion I nor II is true 

(e) If both Conclusions I and II are true 

 

Q4.  

 



3 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | store.adda247.com | Email: contact@bankersadda.com 

 

(a) If only conclusion I is true 
(b) If only Conclusion II is true 
(c) If either conclusion I or II is true 
(d) If neither Conclusion I nor II is true 
(e) If both Conclusions I and II are true 
 
Q5.  

 
(a) If only conclusion I is true 
(b) If only Conclusion II is true 
(c) If either conclusion I or II is true 
(d) If neither Conclusion I nor II is true 
(e) If both Conclusions I and II are true 
 
Directions (6-10): Read the information given below and then answer the questions that follow. 
  
Eight friends J, N, O, K, P, Y, U and L are sitting around a circle in such a way that three of them are facing 
outside and rest of them are facing the centre. 
P is second to the left of L, who is facing outside. K is second to the left of Y and third to the right of P, who 
is facing the centre. N is third to the left of U and faces outside. U is third to the left of J, who is not an 
immediate neighbor of P and Y. The friends who are facing outside are not adjacent. 
  
Q6. Which of the following group is facing outside? 
(a) NLP 
(b) ONL 
(c) OKL 
(d) cannot be determined 
(e) None of these 
 
Q7. What is K’s position with respect to J? 
(a) Immediate right 
(b) third to the left 
(c) Opposite 
(d) second to the right 
(e) Immediate left 
 
Q8. Who is second to the right of N? 
(a) L 
(b) U 
(c) O 
(d) J 
(e) K 
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Q9. Who is sitting fifth to the left of K? 

(a) N 

(b) O 

(c) U 

(d) Y 

(e) L 

 

Q10. Which of the following is true about the given information? 

(a) O and Y are facing each other 

(b) P is third to the left of Y 

(c) O is third to the left of N 

(d) U and J are two places away from each other, if counted in clock wise direction from J. 

(e) None of these  

 

Directions (11-15): Study the following information carefully and answer the questions given 

below : 

  

There are five friends U, V,W, X and Y who like different flowers which are lily, jasmine, Rose, lotus and 

Sunflower. They also bought different items from the mall viz. T-shirt, Skirt, top, Jeans and Bag and they 

are of different ages viz. 24, 21, 20, 19 and 27 but not necessarily in the same order. 

U likes lily and bought Jeans but he is not 21 or 20 years old. The one who bought Skirt is 20 years old. W 

bought Bag and likes Sunflower and he is 27 years old. X likes jasmine and he is 24 years old. Y bought T-

shirt and likes lotus.  

  

Q11. Which of the following is the correct age of U? 

(a) 21 

(b) 20 

(c) 27 

(d) Cannot be determined 

(e) None of these 

 

Q12. Which flower does W like? 

(a) jasmine 

(b) Sunflower 

(c) lotus 

(d) Cannot be determined 

(e) None of These 

 

Q13. Who among the following bought skirt? 

(a) V 

(b) X 

(c) Y 

(d) Cannot be determined 

(e) None of these 
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Q14. Which of the following represents age of Y? 
(a) 27 
(b) 20 
(c) 21 
(d) Cannot be determined 
(e) None of These 
 
Q15. Who among the following likes lotus flower? 
(a) U 
(b) V 
(c) Y 
(d) X 
(e) None of these 
 
Directions (16-20): Study the following information carefully to answer the below given questions: 
  
K, L, M, N, O, P and Q are seven volunteers of BJP who are doing election campaigning in different days of a 
week week (starting from Monday) viz. Monday, Tuesday, Wednesday, Thursday, Friday, Saturday and 
Sunday but not necessarily in the same order. Each of them goes to different district of gujarat viz; 
vadodara, Ahmedabad, Jamnagar, Gandhinagar, Rajkot, Surat, and Kheda but not necessarily in the same 
order.Only one persons is doing election campaigning in one district and only a day in a week. 
M goes on Wednesday and he goes neither to Rajkot nor to Kheda. O does not go on Monday and he is going 
to Gandhinagar.The one who goes on Friday, goes to Jamnagar. The one who goes to Surat ,goes on Tuesday. 
N goes on Saturday and he is not going to Rajkot. Q is going to Ahmedabad. P goes on Thursday. L does not 
go to Surat.  
  
Q16. Who among the following goes on Tuesday? 
(a) K 
(b) L 
(c) N 
(d) O 
(e) None of these 
 
Q17. Who among the following goes to Jamnagar? 
(a) K 
(b) L 
(c) P 
(d) M 
(e) None of these 
 
Q18. Who among the following goes on Sunday? 
(a) K 
(b) M 
(c) P 
(d) O 
(e) None of these 
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Q19. Who among the following goes to Rajkot? 

(a) L 

(b) K 

(c) P 

(d) N 

(e) None of these 

 

Q20. Which of the following combinations is true? 

(a) P-Thursday-Surat 

(b) M-Wednesday-Ahmedabad 

(c) N-Saturday-Gandhinagar 

(d) Q-Monday-vadodara 

(e) None is correct 

 

Directions (21-25): Study the following arrangement carefully and answer the questions given 

below— 

 
  

Q21. How many such prime numbers are there in the given arrangement each of which is 

immediately followed by a symbol and preceded by a consonant? 

(a) None 

(b) One 

(c) Two  

(d) Three 

(e) More than three 

 

Q22. If the places of the those symbols which are immediately followed by numbers are 

interchanged with those of the numbers in the given arrangement then which of the following will 

be the eleventh from the right end? 

(a) G 

(b) @ 

(c) 4  

(d) Z 

(e) None of these 

 

Q23. Which of the following is the seventh letter to the left of ©? 

(a) O 

(b) Z 

(c) R 

(d) V 

(e) None of these 
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Q24. What should come in place of the question mark (?) in the following series based on the above 
arrangement? 

  
(a) @ T A 
(b) 4 A G 
(c) G E #  
(d) G # K 
(e) None of these 
 
Q25. If the symbols and numbers are dropped from the given arrangement and then the letters are 
rearranged in alphabetical order which of the following will be the sixth from the left end ? 
(a) M 
(b) N 
(c) Z  
(d) A 
(e) None of these 
 
Directions (26-30): Study the following information carefully and answer the questions which 
follow– 
In a certain code language  
‘chitrakoot train derailed district’ is coded as ’56 83 71 37’,  
‘Pradesh platform train accident’ is coded as ’76 75 38 83’,  
‘early derailed platform hours’ is coded as ’37 86 16 76’ and  
‘early accident of uttar’ is coded as ’75 58 16 63’. 
  
Q26. What does ‘86’ stand for? 
(a) early 
(b) hours 
(c) derailed 
(d) platform 
(e) Cannot be determined 
 
Q27. What can be the code for ‘new accident’? 
(a) 38 76 
(b) 75 56 
(c) 71 38 
(d) 51 75 
(e) Cannot be determined 
 
Q28. Which of the following could be a code for ‘it platform early accident’? 
(a) 75 36 86 76 
(b) 75 16 38 76 
(c) 76 71 16 75 
(d) 16 76 57 75 
(e) 38 76 56 16  
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Q29. What is the code for ‘Pradesh’? 

(a) 38 

(b) 76 

(c) 75 

(d) 83 

(e) Cannot be determined 

 

Q30. For how many words, codes can be exactly determined? 

(a) five 

(b) six 

(c) seven 

(d) eight 

(e) None of these 

 

Directions (31-35): Study the following information to answer these questions. 

  

There are seven persons D, K, H, B, M, A, E, who are of different ages viz. 32, 25, 16, 21, 26, 28 and 35, not 

necessarily in the same order, Each one likes of different colour viz. blue, Red, orange, purple, pinks, yellow 

and green. 

B is 16 years old and K does not like in yellow or orange colour. H likes purple colour and he is 25 years 

old. The person who is 21 years old, likes pink colour. D, who likes blue colour is not 32 years old. A, who 

likes Red colour is 35 years old. E, who is 26 years old likes green colour. 

  

Q31.Which of the following person is 32 years old? 

(a) D 

(b) B 

(c) M 

(d) B or M 

(e) None of these 

 

Q32.Who among the following likes yellow colour? 

(a) B 

(b) M 

(c) A 

(d) B or A 

(e) B or M 

 

Q33.The Person who likes blue colour is how many years old? 

(a) 26 

(b) 21 

(c) 32 

(d) 28 

(e) None of these 
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Q34.Which of the following combination of person, age and colour is definitely correct? 

(a) B- 16-orange 

(b) B-16-yellow 

(c) K-21-pink  

(d) M-32-orange 

(e) A-35-Blue 

 

Q35.Who among the following likes pink colour? 

(a) K 

(b) B 

(c) M 

(d) H 

(e) None of these 

 

Directions (36-40): Study the following table carefully to answer the given questions.  

  

Table shows the percentage of population in different cities and ratio of male to female in each city. Total 

population of 7 cities in year 2012 = 75 thousand  

 
  

Q36. What is the female population in the cities A, B and C together? 

(a) 17740 

(b) 16440 

(c) 14520 

(d) 17260 

(e) None of these 

 

Q37. What is the difference between the male population of city X and female population of city D? 

(a) 3925 

(b) 3825 

(c) 3945 

(d) 3845 

(e) None of these 
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Q38. What is the average male population in the cities A and B taken together? 

(a) 5825 

(b) 5715 

(c) 5925 

(d) 5905 

(e) 6225 

 

Q39. By what percent is the female population in city Y more than the male population of the same 

city? (Round off to two decimal places) 

(a) 13. 25% 

(b) 14. 28% 

(c) 12. 58% 

(d) 24. 14% 

(e) 18. 28% 

 

Q40. What is the ratio of male population of city Z to the female population of city C? 

(a) 23 : 61 

(b) 11 : 63 

(c) 63 : 19 

(d) 21 : 63 

(e) 19 : 63 

 

Q41. In an examination, there were 1000 boys and 800 girls. If 60% of the boys and 50% of the girls 

passed. Find the percentage of the failed candidates?  

(a) 46. 4% 

(b) 48. 4%  

(c) 44. 4% 

(d) 49. 6% 

(e) 42. 64% 

 

Q42. While selling to the retalier, a company allows 30% discount on the marked price of their 

products. If the retailer sells those products at marked price, his profit % will be:  

(a) 30% 

(b) 
17

2
% 

(c) 40% 

(d) 42
6

7
% 

(e) None of these 
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Q43. The batting average for 40 innings of a cricket player is 50 runs. His highest score exceeds his 

lowest score by 172 runs. If these two innings are excluded, the average of the remaining 38 innings 

is 48 runs. The highest score of the player is  

(a) 165 runs  

(b) 170 runs  

(c) 172 runs  

(d) 174 runs  

(e) 176 runs 

 

Q44. A jar contains a mixture of two liquids A and B in the ratio 4 : 1. When 10 litres of the mixture 

was taken out and 10 litres of liquid B was poured into the jar, this ratio became 2 : 3. The quantity 

of liquid A contained in the jar initially was  

(a) 4 litres  

(b) 8 litres  

(c) 16 litres  

(d) 40 litres  

(e) None of these 

 

Q45. A, B and C have invested a sum of Rs. 125000 in a business. B invested Rs. 15000 more than A 

and C invested Rs. 20,000 more than B. If in total they earned Rs. 37450 profit at the end of year, 

then find their share of profit.  

(a) Rs. 7490, Rs. 11984, Rs. 17976  

(b) Rs. 8480, Rs. 7550, Rs. 8560  

(c) Rs. 7940, Rs. 7054, Rs. 17500  

(d) Rs. 5100, Rs. 6943, Rs. 7140 

(e) None of these 

 

Q46. The compound interest on Rs. 6,000 at 10% per annum for 1
𝟏

𝟐
 years, when the interest being 

compounded annually, is:  

(a) Rs. 910  

(b) Rs. 870  

(c) Rs. 930  

(d) Rs. 900 

(e) None of these 

 

Q47. Jyoti can do 3/4 of a job in 12 days. Mala is twice as efficient 

as Jyoti. In how many days will mala finish the job?  

(a) 6 days  

(b) 8 days  

(c) 12 days  

(d) 16 days  

(e) None of these 
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Q48. The base of a triangle is 15 cm and height is 12 cm. The height of another triangle of double 

the area having the base 20 cm is  

(a) 9 cm  

(b) 18 cm  

(c) 8 cm  

(d) 12. 5 cm  

(e) None of these 

 

Q49. A thief is noticed by a policeman from a distance of 200 m. the thief starts running and the 

policeman chases him. The thief and the policeman run at the rate of 10 km/hr and 11 km/hr 

respectively. What is the distance between them after 6 minutes?  

(a) 100 m  

(b) 190 m  

(c) 200 m  

(d) 150 m 

(e) None of these 

 

Q50. A student was asked to multiply a number by 3/2 but he divided that number by 3/2. His result 

was 10 less than the correct answer. The number was:  

(a) 10 

(b) 12  

(c) 15 

(d) 20  

(e) None of these 

 

Directions (51-60): What should come in place of question mark (?) in the following questions? 

  

Q51. √𝟑𝟔𝟎 − 𝟒𝟓𝟎 + 𝟑𝟕𝟗 =? 

(a) 17 

(b) 19 

(c) 289 

(d) 279 

(e) 21 

 

Q52. 18 × 8 + (?)² = (15)² 

(a) 9 

(b) 81 

(c) 27 

(d) 18 

(e) 32 
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Q53. 512 ÷ ? × 39 ÷ 16 × 328 = 128 

(a) 3179 

(b) 3168 

(c) 3189 

(d) 3188 

(e) 3198 

 

Q54. 96 + 26 × 3 – 51 + 25 ÷ 5 = ? 

(a) 115 

(b) 125 

(c) 130 

(d) 105 

(e) 120 

 

Q55. 43% of 600 + ? % of 300 = 399 

(a) 45 

(b) 41 

(c) 42 

(d) 47 

(e) 57 

 

Q56. (9.8 × 2.3 + 4.46) ÷ 3 = (𝟑)? 

(a) 3 

(b) 9 

(c) 2 

(d) 5 

(e) 7 

 

Q57. ?= 𝟐
𝟑

𝟕
× 𝟐

𝟏𝟓

𝟏𝟕
+ 𝟐

𝟓

𝟗
× 𝟏

𝟑𝟓

𝟒𝟔
 

(a) 11. 5 

(b) 10 

(c) 7. 5 

(d) 17 

(e) 7 

 

Q58. 255.4 + 542.3 – ? = 1014.3 – 499.4 

(a) 271. 5 

(b) 290. 5 

(c) 220. 1 

(d) 282. 8 

(e) 244. 8 
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Q59. 4728 of 
𝟑

𝟒
 of 

𝟐

𝟗
 of ? = 619 

(a) 2 

(b) 0. 5 

(c) 0. 2 

(d) 3 

(e) 8 

 

Q60. 
𝟒

𝟕
 of 2401 + 

𝟐

𝟗
 of 729 – 

𝟏

𝟓
 of 1225 = ? 

(a) 1179 

(b) 889 

(c) 1289 

(d) 1259 

(e) 529 

 

Directions (61-65): What should come in place of question mark (?) in the following questions? 

 

Q61. 8, 27, 125, 343, 1331, ? 

(a) 2197 

(b) 3375 

(c) 2597 

(d)2755 

(e)1728 

 

Q62. 12, 26, 54, ?, 222, 446 

(a) 105 

(b) 108 

(c) 112 

(d) 110 

(e) 115 

 

Q63. 3, 23, 63, ?, 303 , 623  

(a) 143 

(b) 163 

(c) 153 

(d) 133 

(e) 123 

 

Q64. 1028, 1012, 980, 932, 868, ? 

(a) 748 

(b) 698 

(c) 798 

(d) 788 

(e) 688 
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Q65. 5, 7, 17, 55, 225, ? 
(a) 1101 
(b) 1121 
(c) 1131 
(d) 1141 
(e) 1161 
 
Directions (66-70): What should come in place of question mark (?) in the following questions? 
  

Q66. 
𝟏𝟕

𝟐𝟒
÷

𝟔𝟖

𝟐𝟒
×

𝟑𝟖𝟎

𝟗𝟓
= (? )𝟐 

(a) 4 
(b) 8 
(c) 6 
(d) 9 
(e) 1 
 

Q67.  
(a) 112 
(b) 128 
(c) 138 
(d) 116 
(e) 132 
 

Q68.  
(a) 14. 8 
(b) 12 
(c) 14. 75 
(d) 15. 75 
(e) 15. 2 
 

Q69.  
(a) 1 
(b) 2 
(c) 3 
(d) 5 
(e) 4 
 

Q70.  
(a) 64 
(b) 68 
(c) 62 
(d) 62. 37 
(e) 66. 25 
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Directions (71-80): Read the following passage carefully and answer the questions given below it. 
Certain words have been printed in bold to help you locate them, while answering some of the 
questions.  
  
Anyone who shops knows the cost of food is on the rise. Our grocery bills rise because the prices of key 
staple are on an upward trend that shows no sign of abating. When food suddenly costs more, those who 
can least afford it get hit hardest. On average, Canadians spend less than ten percent of their income on 
food. However, people living in poverty spend 50 percent and the poorest as much as 75 percent of their 
income on food. When prices mushroom, these people must do without, and it is women who most 
frequently eat last and least. The current global food situation is very serious and hence, we need to 
understand the reasons for such a dramatic increase in food prices in a short period.  
 

It is argued that increases in energy costs are resulting in cost push inflation but the contribution of energy 
costs to overall costs in agriculture may not explain the huge increase in food prices.  
 

Related to the current elevated energy prices, there has been a diversion of corn and edible oils to bio-fuels, 
which is significantly influenced by policy mandates. Very clearly this diversion to bio-fuels is a policy 
induced new reality, which coincided with price escalation in precisely those products and hence, is 
noteworthy.  
 

The financialization of commodity trade and current extraordinary conditions in global financial markets 
could have influenced the spurt in prices. The recent reductions in interest rates in the U. S. and the 
injection of liquidity have resulted in investors seeking new avenues such as commodity markets, in view 
of the turbulence in financial markets and the low returns in treasuries. The relatively easy liquidity and 
low interest rates, by themselves, make holding of inventories attractive and thus induce greater volatility 
in commodity markets. The weakening of the U. S. dollar is also advanced as a reason for the 
recent volatility in commodity markets, including food items. It is evident that thisphenomenon is now 
also coinciding with the across the board rise in food prices.  
 

In brief, while there are demand and supply side pressures on food items, there is considerable merit in 
the argument that the recent extraordinary increases in food prices are closely linked to public policy 
responses to high energy costs in advanced economies, and the turbulence in financial markets and 
financial institutions. It is said that the impact of such policy induced diversion of food to bio-fuels is 
significant at this juncture and reflects a preference to fill the fuel tanks of automobiles rather than fill the 
empty stomachs of people. Similarly, it is sometimes held that the weight accorded to financial stability in 
public policy may now be at the expense of stability in real sector – especially of sensitive commodities like 
food. At the same time, there is a general consensus that public policy in regard to food in many economies 
around the world has not provided adequate incentive to farmers to increase the supply of food and other 
agricultural products to comfortably match the growing demand over the medium term.  
  
Q71. The passage lays emphasis on which of the following theme(s)? 
(A) The abysmally throwaway prices offered for food commodities.  
(B) The worldwide acute shortage of food commodities.  
(C) Promoting the use of bio-fuel for automobiles.  
(a) A only 
(b) B only 
(c) C only 
(d) All the three 
(e) None of these 
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Q72. In what way are bio-fuels responsible for the increasing 

cost of food? 

(A) It is a policy mandated to use bio-fuel in place of petroleum 

products especially in developing countries.  

(B) Certain food commodities are being used for manufacturing 

alternative fuels.  

(C) The low cost of bio-fuels has created fluctuation in prices of other 

agricultural commodities.  

(a) A only 

(b) B only 

(c) C only 

(d) A and B only 

(e) None of these 

 

Q73. Which of the following situation(s) has/have prompted investors to look towards commodity 

markets?  

(A) Low interest rates in the U. S.  

(B) Easy liquidity 

(C) Volatility in commodity prices 

(a) A and B only 

(b) B and C only 

(c) A and C only 

(d) All the three 

(e) None of these 

 

Q74. Which of the following shows a cause-effect relationship between its two components? 

(a) Reduction in interest rates and abundance of food commodities 

(b) Reduction in energy prices and increase in food commodity prices.  

(c) Turbulence in financial markets and escalation in production of food commodities.  

(d) Dipping of U. S. dollar value and volatility in commodity markets 

(e) Injection of liquidity and the drop in investor confidence.  

 

Q75. Which of the following can be inferred from the passage? 

(A) At present the demand for food items exceeds the supply.  

(B) Fuel production has been given higher priority than caring for the millions who are starving.  

(C) Farmers have not been motivated to increase their production of food.  

(a) A and B only 

(b) B and C only 

(c) A and C only 

(d) None of these 

(e) All A, B & C 
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Q76. Which of the following can be a remedy for the global situation mentioned in the passage? 

(A) Reducing the production of cars and thereby the demand for energy.  
(B) Inducing farmers to increase their food and other agricultural products.  

(C) Increasing the prices of food items to compensate farmers for their losses.  
(a) A only 

(b) A and B only 
(c) B only 

(d) B and C only 
(e) None of these 

 
Q77. Which of the following statements is TRUE in the context of the passage? 

(a) Commodity markets have become erratic due to easy liquidity and low interest rate.  
(b) Governments of many countries have begun paying better prices for food commodities to ensure their 

farmers are taken care of.  

(c) Farmers in developing countries have to compulsorily produce a certain quantity of bio-fuels annually.  
(d) The financialization of commodity trade has resulted in a dip in prices of food products.  

(e) The weakening of other currencies against the US dollar has resulted in high fuel prices.  
 

Q78. Which of the following statements is FALSE in the context of the passage? 
(A) Unusual conditions in global financial markets have aggravated the food price.  

(B) The policy induced diversion of food to bio-fuels does not reflect that preference has been given to 
fueling vehicles and not to feeding the hungry.  

(C) The weight accorded to financial stability in public policy will be at the cost of stability in the real sector.  
(a) A and B only 

(b) B and C only 

(c) B only 
(d) C only 

(e) None of these 
 

Q79. Which of the following best explains the phrase this phenomenon as used in the fourth 
paragraph of the passage? 

(a) Volatility in commodity markets which has led to hoarding 
(b) Escalation in food prices caused by high interest rates 

(c) Easy liquidity because of lack of investment in America 
(d) Weakening of the US dollar and consequent variability in commodity markets 

(e) Fluctuation in energy prices and outdated public policy 

 

Q80. Choose the word which is MOST OPPOSITE in meaning to the word given in bold as used in the 

passage.  
VOLATILITY 

(a)agitation 
(b) effervescence 

(c) optimism 
(d) disparity 

(e) steady 
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Directions (81-85): Read each sentence to find out whether there is any grammatical error or 

idiomatic error in it. The error, if any, will be in one part of the sentence. The number of part is the 

answer. If there is no error, the answer is (e). (Ignore errors of punctuation, if any) 

  

Q81. The government is planning to (A)/ sanction grants to pharmaceutical companies (B)/ for 

inventing new treatments for (C)/ diseases about malaria and tuberculosis. (D)/ No error (E) 

(a) A 

(b) B 

(c) C 

(d) D 

(e) E 

 

Q82. The Finance Minister's view (A)/ is that the scheme will ensure (B)/ that millions of farmers 

will be (C)/ lifted out of poverty. (D)/ No error (E) 

(a) A 

(b) B 

(c) C 

(d) D 

(e) E 

 

Q83. A representative of the (A)/ Reserve bank will provide students an (B) / insight into the (C) / 

economic future of our country. (D)/ No error (E) 

(a) A 

(b) B 

(c) C 

(d) D 

(e) E 

 

Q84. As one of the leader (A)/ insurance companies in (B)/ India they offer (C)/ comprehensive 

financial services. (D)/ No error (E) 

(a) A 

(b) B 

(c) C 

(d) D 

(e) E 

 

Q85. He is not (A)/ an artist; (B) / nor he is (C) / a musician. (D) / No Error (E)  

(a) A 

(b) B 

(c) C 

(d) D 

(e) E 
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Directions (86-90): Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper 

sequence so as to form meaningful paragraph and then answer the questions given below them.  
A. The amount covered by deposit insurance.  

B. The FRDI Bill further empowers the Resolution Corporation to decide  
C. Thus, it is possible that the insured amounts will not only vary for customers in different banks, but may 

also be different for different customers of the same bank.  
D. The amount insured for each depositor.  

E. The Deposit Insurance and Credit Guarantee Corporation Act, 1961 which insured deposits worth one 
lakh for each depositor has been repealed by the cabinet.  

F. The only money owed to depositors that cannot be bailed-in is  
  

Q86. Which of the following should be the SIXTH (last) sentence? 
(a) A  

(b) B  

(c) C  
(d) F  

(e) E 
 

Q87. Which of the following should be the SECOND sentence?  
(a) A  

(b) E  
(c) C  

(d) D  
(e) F 

 

Q88. Which of the following should be the FIRST sentence? 
(a) A  

(b)E  
(c) C  

(d) D  
(e) F 

 
Q89. Which of the following should be THIRD sentence?  

(a) E  
(b) B  

(c) C  

(d) D  

(e) F 

 
Q90. Which of the following should be the FIFTH sentence? 

(a) A  
(b) B  

(c) C  
(d) D  

(e) F 
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Directions (91-100): In the following passage there are blanks, each of which has been numbered. 

These numbers are printed below the passage and against each, five words are suggested, one of 

which fits the blank appropriately. Find out the appropriate word that fits the blank.  

  

Q91. In these days of economic liberalization, globalization, etc. materialistic values have assumed (91) 

importance. Money, physical comforts and luxuries are the most sought after aspects. There has been (92) 

competition. Such competition (93) stress. The stress leads to (94) of health of the people. Indian culture 

has (95) its striking uniqueness, as against the Western culture, in the fact that there is a (96) place for 

spiritualism in the value system in all walks of life. The spirituality is a very (97) force which helps us in 

maintaining our physical and mental health. It gives us (98) to cope with the stress. Westerners have now 

(99) the importance of spirituality and, therefore, they have started (100) us in the matter of spirituality.  

(a) usual    

(b) little  

(c) tangible 

(d) least    

(e) greater  

 

Q92. In these days of economic liberalization, globalization, etc. materialistic values have assumed (91) 

importance. Money, physical comforts and luxuries are the most sought after aspects. There has been (92) 

competition. Such competition (93) stress. The stress leads to (94) of health of the people. Indian culture 

has (95) its striking uniqueness, as against the Western culture, in the fact that there is a (96) place for 

spiritualism in the value system in all walks of life. The spirituality is a very (97) force which helps us in 

maintaining our physical and mental health. It gives us (98) to cope with the stress. Westerners have now 

(99) the importance of spirituality and, therefore, they have started (100) us in the matter of spirituality.  

(a) critical    

(b) unhealthy   

(c) unequalled  

(d) no          

(e) absolute  

 

Q93. In these days of economic liberalization, globalization, etc. materialistic values have assumed (91) 

importance. Money, physical comforts and luxuries are the most sought after aspects. There has been (92) 

competition. Such competition (93) stress. The stress leads to (94) of health of the people. Indian culture 

has (95) its striking uniqueness, as against the Western culture, in the fact that there is a (96) place for 

spiritualism in the value system in all walks of life. The spirituality is a very (97) force which helps us in 

maintaining our physical and mental health. It gives us (98) to cope with the stress. Westerners have now 

(99) the importance of spirituality and, therefore, they have started (100) us in the matter of spirituality.  

(a) releases          

(b) deserves   

(c) generates  

(d) demonstrates   

(e) suppresses  
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Q94. In these days of economic liberalization, globalization, etc. materialistic values have assumed (91) 
importance. Money, physical comforts and luxuries are the most sought after aspects. There has been (92) 
competition. Such competition (93) stress. The stress leads to (94) of health of the people. Indian culture 

has (95) its striking uniqueness, as against the Western culture, in the fact that there is a (96) place for 
spiritualism in the value system in all walks of life. The spirituality is a very (97) force which helps us in 
maintaining our physical and mental health. It gives us (98) to cope with the stress. Westerners have now 
(99) the importance of spirituality and, therefore, they have started (100) us in the matter of spirituality.  
(a) neglect    
(b) illness  
(c) generation  

(d) deterioration   
(e) encroachment  
 
Q95. In these days of economic liberalization, globalization, etc. materialistic values have assumed (91) 

importance. Money, physical comforts and luxuries are the most sought after aspects. There has been (92) 
competition. Such competition (93) stress. The stress leads to (94) of health of the people. Indian culture 
has (95) its striking uniqueness, as against the Western culture, in the fact that there is a (96) place for 
spiritualism in the value system in all walks of life. The spirituality is a very (97) force which helps us in 
maintaining our physical and mental health. It gives us (98) to cope with the stress. Westerners have now 
(99) the importance of spirituality and, therefore, they have started (100) us in the matter of spirituality.  
(a) maintained           
(b) illustrated   
(c) marginalised  
(d) bestowed          
(e) forsaken 

 
Q96. In these days of economic liberalization, globalization, etc. materialistic values have assumed (91) 
importance. Money, physical comforts and luxuries are the most sought after aspects. There has been (92) 
competition. Such competition (93) stress. The stress leads to (94) of health of the people. Indian culture 

has (95) its striking uniqueness, as against the Western culture, in the fact that there is a (96) place for 
spiritualism in the value system in all walks of life. The spirituality is a very (97) force which helps us in 
maintaining our physical and mental health. It gives us (98) to cope with the stress. Westerners have now 
(99) the importance of spirituality and, therefore, they have started (100) us in the matter of spirituality.  

(a) vast    
(b) brief  
(c) formal 

(d) clean   
(e) distinct  
 
Q97. In these days of economic liberalization, globalization, etc. materialistic values have assumed (91) 
importance. Money, physical comforts and luxuries are the most sought after aspects. There has been (92) 
competition. Such competition (93) stress. The stress leads to (94) of health of the people. Indian culture 
has (95) its striking uniqueness, as against the Western culture, in the fact that there is a (96) place for 
spiritualism in the value system in all walks of life. The spirituality is a very (97) force which helps us in 
maintaining our physical and mental health. It gives us (98) to cope with the stress. Westerners have now 
(99) the importance of spirituality and, therefore, they have started (100) us in the matter of spirituality.  
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(a) dormant          
(b) dedicated  
(c) vital 
(d) common          
(e) dynamic 
 
Q98. In these days of economic liberalization, globalization, etc. materialistic values have assumed (91) 
importance. Money, physical comforts and luxuries are the most sought after aspects. There has been (92) 
competition. Such competition (93) stress. The stress leads to (94) of health of the people. Indian culture 
has (95) its striking uniqueness, as against the Western culture, in the fact that there is a (96) place for 
spiritualism in the value system in all walks of life. The spirituality is a very (97) force which helps us in 
maintaining our physical and mental health. It gives us (98) to cope with the stress. Westerners have now 
(99) the importance of spirituality and, therefore, they have started (100) us in the matter of spirituality.  
(a) strength    
(b) tips  
(c) clearance  
(d) sermons   
(e) ideals 
 
Q99. In these days of economic liberalization, globalization, etc. materialistic values have assumed (91) 
importance. Money, physical comforts and luxuries are the most sought after aspects. There has been (92) 
competition. Such competition (93) stress. The stress leads to (94) of health of the people. Indian culture 
has (95) its striking uniqueness, as against the Western culture, in the fact that there is a (96) place for 
spiritualism in the value system in all walks of life. The spirituality is a very (97) force which helps us in 
maintaining our physical and mental health. It gives us (98) to cope with the stress. Westerners have now 
(99) the importance of spirituality and, therefore, they have started (100) us in the matter of spirituality.  
(a) informed    
(b) narrated   
(c) intensified  
(d) realised   
(e) invented  
 
Q100. In these days of economic liberalization, globalization, etc. materialistic values have assumed (91) 
importance. Money, physical comforts and luxuries are the most sought after aspects. There has been (92) 
competition. Such competition (93) stress. The stress leads to (94) of health of the people. Indian culture 
has (95) its striking uniqueness, as against the Western culture, in the 
fact that there is a (96) place for spiritualism in the value system in all 
walks of life. The spirituality is a very (97) force which helps us in 
maintaining our physical and mental health. It gives us (98) to cope 
with the stress. Westerners have now (99) the importance of 
spirituality and, therefore, they have started (100) us in the matter of 
spirituality.  
(a) encouraging   
(b) imitating  
(c) blaming 
(d) preaching    
(e) assuming  
 


